
SAP ABAP table BIW_NTW {Generated Table for View}

BIW_NTW

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

POSID_INT [NUMC (8)]

PSPID_INT [NUMC (8)]

AUART [CHAR (4)]

BUKRS [CHAR (4)]

WERKS [CHAR (4)]

GSBER [CHAR (4)]

KOKRS [CHAR (4)]

KOSTV [CHAR (10)]

STORT [CHAR (10)]

SOWRK [CHAR (4)]

WAERS [CUKY (5)]

OBJNR [CHAR (22)]

PRCTR [CHAR (10)]

VNAME [CHAR (6)]

TXJCD [CHAR (15)]

KDAUF [CHAR (10)]

IVPRO [CHAR (6)]

LOGSYSTEM [CHAR (10)]

AKSTL [CHAR (10)]

DISPO [CHAR (3)]

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 BIW_NTW-PRCTR = CEPC-PRCTR 
0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 BIW_NTW-AKSTL = CSKS-KOSTL 

0..N

1

 BIW_NTW-KOSTV = CSKS-KOSTL 0..N

1

ONR00

MANDT [CLNT (3)]

OBJNR [CHAR (22)]

 BIW_NTW-OBJNR = ONR00-OBJNR 
1

1

PROJ

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 BIW_NTW-PSPID_INT = PROJ-PSPNR 
0..N

{0,1}

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 BIW_NTW-POSID_INT = PRPS-PSPNR 
0..N

{0,1}

T000

MANDT [CLNT (3)]

 BIW_NTW-MANDT = T000-MANDT 
0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 BIW_NTW-BUKRS = T001-BUKRS 
0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 BIW_NTW-SOWRK = T001W-WERKS 
0..N

1
 BIW_NTW-WERKS = T001W-WERKS 0..N

1
T003O

CLIENT [CLNT (3)]

AUART [CHAR (4)]

 BIW_NTW-AUART = T003O-AUART 
0..N1

T024D

MANDT [CLNT (3)]

WERKS [CHAR (4)]

DISPO [CHAR (3)]

 BIW_NTW-DISPO = T024D-DISPO 

0..N

1

T499S

MANDT [CLNT (3)]

WERKS [CHAR (4)]

STAND [CHAR (10)]

 BIW_NTW-STORT = T499S-STAND 

0..N

1

T8JV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

VNAME [CHAR (6)]

 BIW_NTW-VNAME = T8JV-VNAME 

0..N

{0,1}

TAPRF

MANDT [CLNT (3)]

IVPRO [CHAR (6)]

 BIW_NTW-IVPRO = TAPRF-IVPRO 

0..N

{0,1}

TBDLS

LOGSYS [CHAR (10)]

 BIW_NTW-LOGSYSTEM = TBDLS-LOGSYS 

0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 BIW_NTW-WAERS = TCURC-WAERS 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 BIW_NTW-GSBER = TGSB-GSBER 

0..N

1

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 BIW_NTW-KOKRS = TKA01-KOKRS 

0..N

1

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 BIW_NTW-TXJCD = TTXJ-TXJCD 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 BIW_NTW-KDAUF = VBUK-VBELN 

0..N

1


